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Seat No. :  _______________ 
  

DD-105 
December-2013 

B.Ed. Sem.-I 

A-508 : Educational and Mental Measurement and 

Educational Statistics 
 
Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ :   (1) ©Û¾ÛÛ¾Û ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé. ÜÈÛïõÅ¸ÛÛé …Û×©ÛÜÁõïõ ™öé.  
Instruction :  All questions are compulsory. There are internal options. 

    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ þùÉÛÛÙÈÛéÅÛ …×ïõ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  
     The figures to the right side indicate marks. 

    (3) Ü¼Û¶Û›÷ÄõÁõà ÅÛÛ×¼Ûä ÅÛ”ÛÛ¨Û “ÛÜ©ÛýÛäî©Û ÅÛé”ÛÛÉÛé.  
     Answer should be precise and to the point. 
 
1. (A) ¶Ûà˜Ûé¶ÛÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 10 
  Answer any one question from the following two questions. Answer should be in 

about 750 words.  
  (1) ¾ÛæÅýÛÛ×ïõ¶Û …¶Ûé ¾ÛÛ¸Û¶Û¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ ›÷¨ÛÛÈÛà, ¼Û×¶Ûé ÈÛ˜˜Ûé¶ÛÛé ½Ûéþù Í¸ÛÌ¤ø ïõÁõÛé.  
   State the concepts of measurement and evaluation, clarify the difference. 

  (2) ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛ ÍÛÛé¸ÛÛ¶ÛÛé ›÷¨ÛÛÈÛà, ¾ÛæÅýÛÛ×ïõ¶Û¶Ûä× ÜÉÛ“Û¨Û¾ÛÛ× ¾ÛÐü«ÈÛ ˜Û˜ÛÛë.  
   State steps for evaluation and discuss its importance in education. 
 
 (B) ¶Ûà˜Ûé¶ÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 4 
  Answer any one question from the following three questions. Answer should be in 

about 125 words.  
  (1) ’õ¾Û¾ÛÛ¸Ûþ×ù¦ø …é¤øÅÛé ÉÛä× ? ’õ¾Û¾ÛÛ¸Ûþ×ù¦ø¶ÛÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé.  
   What is Rating Scale ? State type of its. 

  (2) ¾ÛÛ¸Û¶Û’õ¾ÛÛ×ïõÛé¶ÛÛé …¬ÛÙ …Û¸Ûà ©Ûé¶ÛÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé.  
   Give Meaning of Measurement scale and types of its. 

  (3) ¸Ûó¾ÛÛÜ¨Û©Û ïõÍÛÛé¤øà¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  
   State the characteristics of standardize test. 

 
2. (A) ¶Ûà˜Ûé¶ÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 6 
  Answer any two of three questions. Each answer should be in about 100 words.  
  (1) ¾ÛµýÛÈÛ©Ûâ ÜÍ¬ÛÜ©Û¶ÛÛ ¾ÛÛ¸ÛÛé ›÷¨ÛÛÈÛà, ¾ÛµýÛïõ …¶Ûé ¾ÛµýÛÍ¬Û¶ÛÛ ÅÛÛ½Û ›÷¨ÛÛÈÛÛé.  
   State the measures of central tendency and merits of Mean and Median. 
  (2) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûä× ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û ¾ÛéÇÈÛÛé : 
   Find the quartile deviation of the following scroes : 
    52, 20, 24, 13, 37, 29, 45, 40. 
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  (3) ¸ÛóÍÛÛÁõ¾ÛÛ¶Û¶ÛÛ ¾ÛÛ¸ÛÛé ›÷¨ÛÛÈÛà, ïõýÛä× ¾ÛÛ¸Û ËÛéÌ¥ø ™öé ? ÉÛÛ ¾ÛÛ¤éø ?  
   State the measurement of variability, which one is the best measurement ? 

Why ? 
 
 (B) ¶Ûà˜Ûé¶ÛÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 8 
  Answer any one of two from the following questions. Each answer should be in 

about 500 words. 
  (1) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé ƒ 

ÈÛ•ÛÙ 20-24 25-29 30-34 35-39 40-44 45-49 50-54 55-59 60-64 65-69

…ÛÈÛèÜ«Û 2 3 5 6 14 12 4 2 1 1 

   Calculate the standard deviation for the following frequency distribution : 
Class 20-24 25-29 30-34 35-39 40-44 45-49 50-54 55-59 60-64 65-69
Frequency 2 3 5 6 14 12 4 2 1 1 

  (2) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø ¾ÛµýÛÍ¬Û …¶Ûé ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û ¾ÛéÇÈÛÛé :  
ÈÛ•ÛÙ  95-99 90-94 85-8980-84 75-79 70-74 65-69 60-64 55-59 50-54 45-49 40-44

…ÛÈÛèÜ«Û 1 2 4 5 8 10 6 4 4 2 3 1 

  Find out Median and Quartile deviation to the following frequency distribution : 
Class 95-99 90-9485-8980-84 75-79 70-74 65-69 60-64 55-59 50-54 45-49 40-44
Frequency 1 2 4 5 8 10 6 4 4 2 3 1 

  
 
3. (A) ¶Ûà˜Ûé¶ÛÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 10 
  Answer any one out of two from the following questions : Each answer should be 

in about 750 words : 
  (1) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ …ÛÈÛèÜ«ÛÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà P70 …¶Ûé ¸ÛóÛ¸©ÛÛ×ïõ X = 70 ÐüÛéýÛ, ©ÛÛé ©Ûé¶ÛÛé ¸ÛóÜ©ÛÉÛ©Û 

’õ¾ÛÛ×ïõ (PR) ¾ÛéÇÈÛÛé : 
ÈÛ•ÛÙ 10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99

…ÛÈÛèÜ«Û 4 7 11 17 24 16 12 6 3 
 

   Find P70 and PR for the score X = 70 from the following frequency distribution : 

Class 10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99
Frequency 4 7 11 17 24 16 12 6 3 

  (2) ÍÛ¾ÛµÛÛÁõ¨Û ÈÛ’õÁéõ”ÛÛ …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ÅÛ“Û¨ÛÛé …ÛïèõÜ©ÛÍÛÜÐü©Û ›÷¨ÛÛÈÛÛé.  
   What is Normal probability curve ? State its characteristics with figure. 
 
 (B) ¶Ûà˜Ûé¶ÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé ›÷ÈÛÛ¼Û …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé ƒ 4 
  Answer any one question from the following three questions. Each answer should 

be in about 125 words.  
  (1) ÜÈÛÌÛ¾Û©ÛÛ …é¤øÅÛé ÉÛä× ? ›Ûé ÍÛÁõÛÍÛÁõà = 60, ¾ÛµýÛÍ¬Û = 55 …¶Ûé ¸Ûó¾ÛÛ¨Û ÜÈÛ˜ÛÅÛ¶Û = 10 ÐüÛéýÛ 

©ÛÛé ÜÈÛ©ÛÁõ¨Û¶Ûà ÜÈÛÌÛ¾Û©ÛÛ ÉÛÛéµÛÛé …¶Ûé ©Ûé¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé.  
   What is Skewness ? If the Mean = 60, Median = 55 and Std. deviation = 10, 

then find out skewness of frequency distribution and interpret it. 
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  (2) Áõ¾ÛéÉÛ¶ÛÛ µÛÛéÁõ¨Û-10¾ÛÛ× ÜÈÛßÛÛ¶Û …¶Ûé •ÛÜ¨Û©Û¶Ûà ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé …¶Ûä’õ¾Ûé 50 …¶Ûé 75 
™öé. …Û”ÛÛ ÈÛ•ÛÙ¶ÛÛ ÜÈÛßÛÛ¶Û …¶Ûé •ÛÜ¨Û©Û¶Ûà ïõÍÛÛé¤øà…Ûé¶ÛÛ ÍÛÁõÛÍÛÁõà ¸ÛóÛ¸©ÛÛ×ïõÛé …¶Ûä’õ¾Ûé 40 
…¶Ûé 65 ™öé …¶Ûé ¸Ûó¾ÛÛ¨Û ÜÈÛ˜ÛÅÛ¶Û …¶Ûä’õ¾Ûé 10 …¶Ûé 20 ™öé. T-¸ÛóÛ¸©ÛÛ×ïõ ÉÛÛéµÛà¶Ûé Áõ¾ÛéÉÛ 
ïõýÛÛ ÜÈÛÌÛýÛ¾ÛÛ× ÐüÛéÜÉÛýÛÛÁõ ™öé ©Ûé ›÷¨ÛÛÈÛÛé.  

   Ramesh obtained 50 and 75 scores in Science and Maths in Std-10. The Mean 
score of the whole class in Science and Maths are 40 and 65 respectively and 
Std. deviation are 10 and 20 respectively. Find out T-scores and state in 
which subject is Ramesh bright ? 

  (3) ÍÛÛþùÛé ’õ¾ÛÛ×ïõ …¶Ûé ¸ÛóÜ©ÛÉÛ©Û ’õ¾ÛÛ×ïõ ÈÛ˜˜Ûé¶ÛÛé ½Ûéþù ÅÛ”ÛÛé.  
   Distinguish : Simple Rank and Percentile Rank. 

 
4. (A) ¶Ûà˜Ûé¶ÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé ƒ 6 
  Answer any two out of three from the following questions. Each answer should be 

in about 100 words :  
  (1) ¸ÛóÛ˜ÛÅÛàýÛ ïõÍÛÛé¤øà …¶Ûé …¸ÛóÛ˜ÛÅÛàýÛ ïõÍÛÛé¤øà ÈÛ˜˜Ûé¶ÛÛé ½Ûéþù ÅÛ”ÛÛé.  
   Distinguish : Parametric test and Non-Parametric test. 
  (2) ¾ÛµýÛÍ¬Û ¸ÛÜÁõ“Û¨Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ›÷¨ÛÛÈÛÛé.  
   What is Median test ? State its usability. 
  (3) Ü˜ÛÏ¶Û ïõÍÛÛé¤øà ¾ÛµýÛÍ¬Û ¸ÛÜÁõ“Û¨Û ïõÁõ©ÛÛ× ïõˆ Áõà©Ûé …ÅÛ•Û ¸Û¦éø ™öé ? ÉÛÛ ¾ÛÛ¤éø ?  
   How does the sign test differ from Median test ? Why ?  
 

 (B) ¶Ûà˜Ûé¶ÛÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛóÊ¶Û¶ÛÛé ›÷ÈÛÛ¼Û …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé ƒ  8 
  Answer any one out of two from the following questions. Each answer should be in 

about 500 words :  
  (1) ÉÛÛÇÛ¾ÛÛ× µÛÛéÁõ¨Û-10¶ÛÛ …éïõ ÈÛ•ÛÙ¶Ûé •Ûä›÷ÁõÛ©Ûà •Û²-¸Û² …¶Ûé ÈýÛÛïõÁ¨Û ïõÍÛÛé¤øà …Û¸ÛÈÛÛ¾ÛÛ× 

…ÛÈÛà ýÛÛé•ýÛ …¸ÛóÛ˜ÛÅÛàýÛ ïõÍÛÛé¤øà ³ùÛÁõÛ ïõˆ ïõÍÛÛé¤øà …ÍÛÁõïõÛÁõïõ ™öé ©Ûé ¶Û‘õà ïõÁõÛé ? 

•Ûä›÷ÁõÛ©Ûà •Û²-¸Û² 34 42 30 32 38 31 42 34 

ÈýÛÛïõÁõ¨Û 38 39 36 37 41 38 35 38 

   Gujarati essay content test and grammar test were given to the class of         
std. 10. Which test is effective ? Clarify by proper non-parametric test. 
Gujarati essay content test 34 42 30 32 38 31 42 34 
Gujarati Grammar test 38 39 36 37 41 38 35 38 

 

  (2) Í¶ÛÛ©Ûïõ …¶Ûé …¶ÛäÍ¶ÛÛ©Ûïõ ÜÈÛ²Û¬Ûâ…Ûé¶Ûé …×•Ûóéœ÷ ÈýÛÛïõÁõ¨Û ïõÍÛÛé¤øà …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà. 
¼Û×¶Ûé¾ÛÛ×¬Ûà ïõýÛä× ›æ÷¬Û ˜Û§øàýÛÛ©Ûä× ™öé ©Ûé ¾ÛµýÛÍ¬Û ¸ÛÁõà“Û¨Û ³ùÛÁõÛ ˜ÛïõÛÍÛÛé.  
…¶ÛäÍ¶ÛÛ©Ûïõ 50 58 52 54 48 42 45 44 41 43 

Í¶ÛÛ©Ûïõ 38 40 45 39 46 50 41    

   English grammar test was given to a group of Graduate and Post-graduate 
students. Which group is qualitative : Find by Median Test. 

Post Graduate Student 50 58 52 54 48 42 45 44 41 43 
Graduate Student 38 40 45 39 46 50 41    
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5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 14 
 Answer the following questions as directed : 
 (1) ÉÛíé“ÛÜ¨Ûïõ …Û×ïõ¦øÛÉÛÛÍªÛ¶Ûä× ¾ÛÐü«ÈÛ ƒ ¼Ûé ¾Ûä°ùÛ …Û¸ÛÛé.  
  Give two merits for Importance of educational statistics. 

 (2) ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶ÛÛé ÜÈÛÍ©ÛÛÁõ ›÷¨ÛÛÈÛÛé.  
  State the range of correlation coefficient. 

 (3) P85 = 85 ¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé.  

  Interpret : P85 = 85. 

 (4) ¾ÛµýÛÍ¬Û ïõÍÛÛé¤øà¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
  When Median Test is used ? 

 (5) Z-¸ÛóÛ¸©ÛÛ×ïõ¶ÛÛ ¼Ûé Š¸ÛýÛÛé•Û ¶ÛÛêµÛÛé.  
  Write two uses for Z-score. 

 (6) T-¸ÛóÛ¸©ÛÛ×ïõ¶ÛÛ ¼Ûé Š¸ÛýÛÛé•Û ¶ÛÛêµÛÛé. 
  Write two uses for T-score. 

 (7) Ü˜ÛÏ¶Û ïõÍÛÛé¤øà¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
  When Sign Test is used ? 

 (8) ÍÛ¾ÛµÛÛÁõ¨Û ÈÛ’õÁéõ”ÛÛ¶Ûà ïõïäõþù©ÛÛ¶Ûä× ¾ÛÛ¸Û ¶ÛÛêµÛÛé.  
  Write the measurement of Kurtosis for Normal probability curve. 

 (9) ¸ÛóÜ©ÛÉÛ©Û ’õ¾ÛÛ×ïõ …é¤øÅÛé ÉÛä× ? 
  What is percentile Rank ? 

 (10) P50 = M ¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛÛé.  
  P50 = M : Give meaning of it. 

 (11) ¸ÛÁõà“Û¨Û¶ÛÛé …¬ÛÙ …Û¸ÛÛé.  
  Give meaning of testing. 

 (12) ¾ÛÛ¸Û¸Û±ùÜ©Û¶ÛÛ ¸ÛóïõÛÁõ ÅÛ”ÛÛé.  
  Write types of Measurement scale. 

 (13) …¸ÛóÛ˜ÛÅÛàýÛ ïõÍÛÛé¤øà¶ÛÛ ¼Ûé ÅÛÛ½Û ›÷¨ÛÛÈÛÛé.  
  State two merits of Non-parametric Test. 

 (14) ¸Ûó¬Û¾Û ˜Û©Ûä¬ÛÙïõ ÉÛÛéµÛÛé ƒ 10, 12, 48, 31, 38, 31, 53 
  Find out Q1 (quartile one) for the following score. 

   10, 12, 48, 31, 38, 31, 53 
 

____________ 
  


